el 3mE (20 2) FEEE T ( ) 4i(
Ba% y=(x"+1)(22°~3) Z#ST L, KOBIRE B &
y'=(x2+1/(22% = 3) +(x? + 1)(2x* — 3)) =2x(22% = 3) + (x*+ 1)-4x O y=¥x PR — .
=4x°—6x+4x° +4x=8x°—2x 5—x
1y 1 1 1 -2 1 1)
y/_(xs) :gxs, lzgx ‘,:55 = y/:{(s_x2> 2}
@ R D BEKE I K 1o
7 — Loty
1) y=4* 2) y=24+4° 2
R YT T
= 2(5 x%) % (—2%)
_ x
@) y=(x*+2)3x+4) @ y=(+ D(x*—2) (5= x5 —s*
[ VOl L O
1
1 y=Vx @ =
ROBIB WO E L,
1 —1
W y=5rg @ y=Tr @ y=Yr'+2
Y (2x—1y _ 2 s (=124 1) —(x=D(x*+1)
@r—12 (2x—1p = (417
_ 1+l —(x—1)-2x
(x241)?
_ — 2242241
@417 ROBHE B .
@ KB A MY L (1) y=log(5x—1) (2) y=log,|34
! -1 b1 . ., 5 bl a3 1
0 = x2—2 @ »y= 4x—3 Y1 (62—1) T 5x—1 ¥ = 3xlog2 (Bxy = 3xlog2 ~ xlog2
@ R DK A X
(1) y=Ilog(3x+1) (2) y=log,(3x—1)
Ok y=— HHOE L,

O y= —% s X,

BI% y= (2024 3)" Ao k.
D) u=222+3 LF5E  y=u'

dy _dy du _ 5 4, 2, gy
Ix = de dx =4u3-4x=16x(2x%+3)

(4 2)  y'=4(2x2+3)°- (2224 3) =4(2x%+ 3)*-4x=16x(2x° + 3)?

@ 5B OMIEE TNT, B y=3x—1)° 2o &,

@B DM A AN T, BIs y=(3x>+x)° ZWoE &,

@R DB & W L,

(g2 2 _
1) y=(x*4+2x+5) 2) y—(2x+3>3

3) y=x’logx

OBk y=1log|x*—7| M L,

@k y=1logs|x?—54 ZHsE L.

[6]B koBKE#HIE L,
1) y=e™ 2 y=x23"

Y=o ¥ (—dxy = —de

=x-3%(2+ xlog3)
@K DEE AW XL,
1) y=e* @ y=5"
1
3 =x%" 4 =
@) y=x'e O] P

3/ =(x%'3"+ 2%3") =2x-3"+ x%-3*log 3



BeEmEEE1 3EE (F02)

i
i
v
afo

) i (

ROBIB WO E L,

(1) y=sin®xcos3x

y’=(sin’x)'cos3x +sin®x(cos3x) =3sin?xcosxcos3x +sin’ x(—sin 3x)-3

=3sin?x(cos xcos3x — sin xsin 3x) =3sin?xcos4x

2 y=log j;g‘

y'=(log|x—2| —log|x+2|) =——

@R DK AW X,
—qin’ _ x+2
(1) y=sin®xcos5x (2) y=log 13 ‘
3) y=(logx)*
@R DB AWM K,
__sinx _ 2x—1
@ YT "cosx @ y—log‘ 2¢+1
(3) y=+l—sinx
WO MR DR AT RO TR ERD K.
1) y=%, A(=1, -1 (2) y=sinx, A(x, 0)
X
@ [ QYL g Gonai
(1) y=2sinx (2) y=sin2x
3) _y:sinzx (4) y=sin x!
(5) y=x+sinx (6) y=axsinx

(7) y=sinx+cosx (8) y=sinxcosx

WO B D FifiE A 3R o X,
1) flx)=x"—6x2—8x

B) f(x)=x—sin2x (0<x=Znm)



